2kg/10a

“ Pi a,

1,000

250

2.625ha

85

1,000 ha

H14-18,



31 80
1,000 ha
19 19
( 8 5 8 3 8 12 8 7 8 4 8 14
( ) 9 16 9 13 9 28 9 20 9 17 10 3
(cm) 79.9 85.0 86.8 85.3 88.1 92.5
(cm) 18.1 19.1 16.6 17.8 19.1 16.4
(/7)) 345 356 372 375 386 406
Pi Pi Pi a
(kg/a) 53.0 51.5 56.3 60.1 60.6 51.1
103 (100) 109 99 (100) 85
() 24.9 22.7 21.9 24.7 23.2 20.4
« ) 2.3 3.3 4.0
( ) 2.9 4.2 5.3 3.2 2.4 4.6
) 1998 2001 ( ) 1999 2001
2000
1 3 1 9 10
1
| 19
?-?\ 0.5
19
-0.5
-1
1999 2000 4
b 19 (+5.37)
R (+6.05)
0.0
) +0.2
-0.2 1
+0.6 250
+0.4

H11



